Ratio to ATLAS

do / dA ¢™ [fb/rad]

=
o
(6)]

10*

103

0.5

13000 GeV pp tt
| T T T T T | L L I I | T 1T T 1T 7T 17 | T
A@(Il) (ATLAS dileptonic ttbar)
-~ m ATLAS E
— --1-- Herwig 7.2.1 default —
S ¢ Sherpa 2.2.0 default N
B i - m
— |
= u u - BT o
U .
,*'E——
| R E o _|
g
G-
e e e
u i o I
- R ol [--" —
B

| .l_—||-—-|——|—|—_'|"—|——.—_lzl|—-.--1-g ] ] ] ] , | , ] ] ] ] , | ,
0 1 2 3

DileptonA ¢"™ [rad]

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


